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	Sep/2019 Braindump2go 500-470 Exam Dumps with PDF and VCE New Updated Today! Following are some new 500-470 Exam

Questions!1.|2019 Latest Braindump2go 500-470 Exam Dumps (VCE & PDF) Instant

Download:https://www.braindump2go.com/500-470.html2.|2019 Latest Braindump2go 500-470 Exam Questions & Answers Instant

Download:https://drive.google.com/drive/folders/1xdWlwqk33riVxJghaz4wzEUVfQBESfuh?usp=sharingQUESTION 1Device

Sensor provides which two types of information to ISE? (Choose two.)A.    DHCPB.    Encrypted trafficC.    User/Device NameD.   

CDPE.    NetFlowAnswer: ADExplanation:

https://www.cisco.com/c/en/us/support/docs/security/identity-services-engine/200292-Configure-Device-Sensor-for-ISE-
Profilin.html?referring_site=RE&pos=1&page=https://www.cisco.com/c/en/us/td/docs/
switches/lan/catalyst3750/software/release/15-0_1_se/device_sensor/guide/sensor_guide.htmlQUESTION 2The profiling data

from network access devices is sent to which Cisco ISE node?A.    Monitoring nodeB.    Administration nodeC.    Inline Posture

nodeD.    Policy Service nodeAnswer: DQUESTION 3What two best describe self-healing functionality on vEdges? (Choose

two.)A.    Software reconfiguration capability allowing for dynamic reconfiguration of existing channelsB.    In software upgrade

process, rolling back to the previously running software image when connectivity to vManage failsC.    vManage detect routing

outage detection to detect reachability outages and understand their scope and likely root causeD.    With configuration change,

rolling back the configuration change when loss of connectivity to vManageAnswer: BDQUESTION 4Which three statements best

describe Cisco ISE configuration capabilities? (Choose three.)A.    ISE Deployment Assistant (IDA) is a built in application

designed to accelerate the deployment of Cisco Identity Service Engine (ISE)B.    Cisco ISE includes wireless setup wizard and

visibility wizard.C.    ISE requires an understanding of the command line for set-up and configuration.D.    ISE wizards and

pre-canned configurations ease ISE roll-out significantly.E.    Cisco Active Advisor provides additional guidance for ISE

deploymentsAnswer: BDEQUESTION 5Which three wireless product families are supported in the current DNA-C 1.1 release?

(Choose three.)A.    AP 1260B.    WLC 8540C.    WLC 5508D.    AP 3800E.    WLC 3504Answer: BDEQUESTION 6Which two

options are used as part of an ISE POV? (Choose two.)A.    YoutubeB.    CiscoTVC.    dCloudD.    POV KitE.    Implementation on

Production NetworkAnswer: CDExplanation:

https://community.cisco.com/t5/security-documents/selling-ise-demos-and-povs/ta-p/3629542QUESTION 7Which three

services must be enabled under the ISE Admin settings to successfully integrate ISE, when integrating ISE with DNA-C? (Choose

three.)A.    SXP servicesB.    ServiceNowC.    Threat-Centric NACD.    InfobloxE.    PxGridF.    Passive Identity ServiceAnswer:

AEFExplanation:

https://www.cisco.com/c/en/us/td/docs/cloud-systems-management/network-automation-andmanagement/dna-center/1-1/inst
all/b_dnac_install_1_1_0P2/b_dnac_install_1_1_0P2_chapter_010.pdfQUESTION 8Which statement is correct about iPad

profiling?A.    In order to profile the iPad you must use the user agentB.    The iPad will be auto-profiled in Cisco ISE without any

need for configuration.C.    In order to profile the iPad you must use the DHCP probe.D.    Multiple conditions can be used, but a

minimum certainty factor has to be matched or exceeded.Answer: DQUESTION 9Which of these is not a method to obtain Cisco

ISE profiling data?A.    RADIUSB.    HTTPC.    SNMP queryD.    active scansE.    NetflowF.    DNSAnswer: DQUESTION 10

Which three statements are true regarding Cisco SDWAN license tiers? (Choose three.)A.    With Pro license, control and data

policies are supportedB.    With Plus license, split-tunnel is supportedC.    With Pro license, unlimited segmentations are supported

D.    With Plus license, Hub and spoke, partial mesh are supportedE.    With Enterprise license, vAnalytics is includedF.    With

Enterprise license, TCP optimization is not supportedAnswer: ABEQUESTION 11Which are three Cisco recommendations on

"How to Win"? (Choose three.)A.    Talk about Cisco's focus on Security and integration with StealthWatch, Sourcefire, WSA,

vulnerability scanner to make smarter policy decisions.B.    Explain support for 3rd party network devices.C.    Explain architectural

advantage of holistic Cisco solution.D.    Demonstrate complex policy flows, rather show case Wizards and enhanced context

visibility.E.    Show case Cisco portfolio or ISE feature set during PoCAnswer: ABC!!!RECOMMEND!!!1.|2019 Latest

Braindump2go 500-470 Exam Dumps (VCE & PDF) Instant Download:https://www.braindump2go.com/500-470.html2.|2019

Latest Braindump2go 500-470 Study Guide Video Instant Download: YouTube Video: YouTube.com/watch?v=GsRT8CP37xY
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